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A person buys 100 cups at Rs 10 each one the way 10 cups break. | ‘
He sells the remaining cups at Rs 11 each. His loss percent is
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A man buys 12 articles for Rs 12 and sells them ‘ l‘
at the rate of Rs 1.25 per article. His gain

percentage is
|I

TS ATCHT 12 FUA H 12 g WG § 3R 3= 1.25
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muﬁaﬁaﬁaﬁm%lwmﬂ{m%
(1) 20
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(3) 15
(4) 18
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By selling 33 m. Cloth, a shopkeeper earns profit equivalent to
selling price of 11 m. find his profit percentage?

33 Hiex FY DR, TP gPTGR 11 Hiex 9t At qea &
TR AT SHfofd HT 8, SHBT Yy ufa=rd |1 82

(1) 50%
(2) 301

(3) 38%
(4) 29%
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A house and a shop were sold for Rs 1 lakh each. In this ‘ ‘
transaction, the house sale resulted into 20% loss

whereas the shop sale resuited into 20% profit. The

entire transactlon resulted in HEPEFES T|§ Y
W 3R Ub gPI- AP TP did

|} g&ﬁ W PI faspt 7 20% ganm%wﬁﬁaﬂ?
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(1)No loss no gain

(2) Gain of Rs 1/24 Igkh

| (3) Loss of Rs 1/12 lakh '

[ (4) Loss of Rs 1/18 lakh
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By selling a table for Rs 350 instead of Rs 400,
loss percent increases by 5% The cost price of the
table is

400 ¥UYY & ToI1d 350 UL A USH Aol 9 B, g1 ufawra
5% & 9¢ SITd & Wl B! T Ted @

(1) Rs 1050

2

(3) Rs 435
(4) Rs 1000




A dishones miIkrﬁah sell milk at cost price but he
mixes water and earns 16%% profit. Find the ratio to
mixture and milk in the mixture?

U IS gUATAT g I 39 oI TR 9<dT §, Afb- a8
Ut e dAar € 3R 16:% 1 ATy SHfofd wear ¢

ﬁrsmazrrg{ermaﬂtrmmo
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(2) 7:6
(3)6:95
(4) 7 .7
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A shopkeeper sells an article at 20% profit. Had he bought it for 10% less and
sold it for Rs 12 less, he would have earned 30% profit. What is the original
cost price?

GPTIGR 20% ATH ) d9dar g . afe 3uA
mwﬁaﬁamaﬁ%gﬁmwﬁaﬂﬁm

a1 39 30% TH ST | Y& aNTd e T 87
ofrer

(2) Rs 500

(3) Rs 450

(4) Rs 600
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Vishal sold an article for Rs 1,740 and made 15 percent ‘
profit on the discounted price he bought. If the discount |
was 20 percent, what was the original price?

||§

fa=mer 7 1,740 TUA # T 9 9T 3R (U GRT WIS T

fraradt gea R 15 ufrra @1 SuTan 9 ge 20 vfawd t

A, 9 ga saa @ A

I|
WLE 1900
LE 1600
3) Rs 2400
(4) None of]

these
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A sells a goods to B at a profit of 20% and B sold it to C at loss of &N
25%. If C pays Rs 225 for it, what was the cost érice for A?

A TS T B B 20% & ATH U= 99«1 § ST B ,C Pl

25% & Wc Hiddcdig.diecq
225 '\Wcr;:raﬂ Wﬁcm g dAlA® mcmw%m
T 41?2

| ) (1) Rs
, 100




— e ———————

The marked price of aradio is Rs 480. The
shopkeeper allows a discount of 10% and still gains
8% . If no discount is allowed, find his gain percent.

Ifear ot $IHd 480 U %
L R L e
Qe A1 St df , qTY U= &1 gidr ?

(1) 10%
(2) (5% ]
(3) 20%
(4) 35%
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5% more Is galned by selling a cow for Rs 1010 ‘ ‘
than by selling it for Rs 1000 find the cost price
of the cow.

5% 3P BTaST BidT 5,3 R T B 1000 YA &t
STE 1010 $UA ¥ ST ST, 64 Hed FId DY 2 ‘\'
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Nikita bought 30 kg of wheat at the rate of Rs 9.50 per kg and 40 kg of‘

wheat at the rate Rs 8.50 per kg, then. She sold the mixture at the rate
of Rs 8.90 per k% then find th;%ofit or loss in the transaction ?

fAfeara 30 9.50 $UY Ula fpall 3R 40 fal Rs 8.50 ufal fpan
P X A @l o1 Y 8.90 U ufe fpet &Y ¥ @ 99 far,
A W 3T T A1H IT ST I DR ?

(1) Rs 2 loss

. (2
(3) Rs 2 profit
‘ (4) Rs 7 profit
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After selling an article for Rs 1060 a shopkeeper earns l
20% more profit than the loss incurred after selling the

article at Rs 950.

1060 ¥UT H TP a] a9 & 91 ®I 950 SUY |

999 & 916 U TPAM DI ga11 H 20% i ATST gt

21 ) Y I T DR ?
(1]Rs 100d

(2) Rs 1100
(3) Rs 950

(4) Rs 900




A man purchased a book and a pen for Rs. 390. He sells
the book at 10% profit and the pen at 15% profit. If he
earns a profit of Rs 51.50, then find the difference

between their C.P.

TS 3MGHT 9 390 TUY H U fhara 3R U9 TSIl 98 10%
Y IR [P ST § 3R 15% 1 IR FaH. afe 98
51.50w@$rmum%,a’rmquw%?(1) 100

2)105 ||
3)107 ||




‘
|

A man purchased some articles for Rs 5400. He sells g

rd of them at 15% profit. At what profit percent did he
sell the remaining to obtain an overall profit of 12%.

U® 3MTGHT 7 5400 ¥ H O ATHH | 3986 A 2/3
15% ATH UX 99T 8. B U 12% TH T 31 & forg
91! &l feaa yfaRa ary w a2

(1) 5%

il 2) 4%
;

' (4) 7%
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A man sells his goods at 44% loss. He used 30%
less weight. Find his profit or loss%?

T 93 DI 44 % F R d=dT § , 3R a9 H 30%
g?ﬁwa%‘?a’rmmqmmmmﬁ

(1) 30%
2) 22%
(3) 20%
(4) 25%




A man purchased some oranges at the rate of 25
oranges for Rs 1. How many for Rs 1 should he sell

to gain 259;% p_;i%gt. RV Sl i
3Tt 25 e 1 x @G| TE 25%
%Ww$m1mﬁmﬁ%aﬁq 2.

L_(1)28

(2)30
(3)40
AL
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By how much percentage a shopkeeper marked his goods above ‘
its C.P so that by giving a discount of 20%, a man gains 10% profit?

fra=IT 98T TR TPTICR Dl Y4 Sifvd BT A1fRT 79 Yo | a1fdp
20%3%3?%3»‘{3%10%#?1‘#31? R

e

(2)365%

(3)38%%
(4) 392
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A shopkeeper gives 1 item free with every 15 |
items and a discount of 4% is also offered to the |
trader and the shopkeeper still gains 35% profit. | '.
Find the ratio of C.P. to M.P.? | |

B R oo s et bt
W
DT AUId? |
L(m2:s |
il (2)1:3

' (3)3:5
| (4)37




A shopkeeper marks his goods 20% above his
cost price and gives 15% discount of the
marked price. Find his gain%

TP PSR a¥d Dl 20% AFTd Yed W it fafga
G qycrww%qgém%.a‘r A%

T I 2

Il (1[2%__|
| (2) 3%
| (3) 4%
| (4) 102%
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Question of the

'l A man purchased a book a(!\%ya pen forrs 25800 .he sold
|l the book at 13% profit and the pen at 17% profit .if he

I sold the book at 17% profit and pen at 13% profit ,he

* would have earn 80 rupee more ,then find their cost

4 price ?

TP 3TeH! A 25800 ¥UA & T v fhara 3R U e H

| T . 3E 13% AU WR AP a9t 3R FAH 17% ATH W®
1 3R 3 17% ATH R $aH 3R &P 13% 14 TR a1,
| 195 80 ¥4 ftrer 3ifSta waT, fthr 3@ @ e
| g ?
3|







